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MATHEMATICS
Time: 30 Minutes éfﬂ

Note: You have four choices for vcach objective type question as A, B, C and D. The choice which you think is
correct, fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or
ﬁllinﬁ two or more circles will result in zero mark in that question.

- 1- Every real number is a complex number with its imagi part equal to

() real part ®) i ‘8 0 ) 1
2- If A and B are disjoint sets, then A —B =
@) B-A @) a © B ®) ¢
3. If order of a matrix A is 2 x 3 and that of matrix B is 3 x 2, then order of (AB)' is
(A) 3x3 ® 22 (©) 3x2 (D) 2x3
4- A square matrix A=[a;j] is lower triangular if _
(A) wj#0foralli <j (B) ay#0 forall i>j
(©) mj=0foralii>j é}aij=0foralli<j
5-  Four 4™ roots of 625 are
(A) £25i,+25 (B) £16i,+16 © =5i,45 (D) +4i,+4
6-  Ifa, B areroots of the cquation 3x? ~2x +4 =0, then value of %+-g— is
3 4 5 5
@ ®) -3 © 3 ® -3
7- Partial fractions of —— are
i x“+1
A B A B Ax+B :
- —_— . 1
@ x+1 x-1 ®) oy © x2+1 0 ik
§- 5" term of the sequence whose general term is a, =n + =" Jis _
4 (B) 5 <o ) =5
9-  Which one is true
(A) G,H, A are in G.P. @) Al Hate if6.p.
(C) A,G,Harein H.P. nAP.
10-  The complementary combination "C,="C,_, is
(A) n=r (B) n<r s @ r>%
11-  Two dice are thrown simull.zmenusly,q gbihty of getting a total of “7” number of dots is
1 1 4 L)
e N7 of ®f
12- 345+T+ e+ (20t5) = or integral values of n
(A) n>-4 (€) n>-2 @ nz-1
- n), (m),[® [
= llTlala
(A) 22 @) 2 @ g @ 27
14~ Cot o '
( @® -1 (C) Cos’0 (D) tan®0
O frgraraz
L)
- tan38 = / :L
3 2g-
® 3tanf—tan’ 0 2l ;’me (C) 3tan0 (D) tan’0
1-3tan’0 1-3tan’@
16-  Range of y=Sinx is
L1 © 2,21 ®) |-5.5
@ -1 ® |37 ' 22
17-  Number of elements of a triangle is o
) 4 ®) 5 ©s (D) infinite
B_
18- Cos 5=
[s6-5) G=96-2)
@ ac ® ac
G- G=H6-9
© ®) be
19-  Sinan™(-1)=
1 -1
- DY —=
A 1 B) -1 © "y O N1
20-  Reference angle of 28inx —1=01is
n T & i
® 3 ®) = (OF ®) 2
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MATHEMATICS Intermediate Part-1, Class 11" (1¥A323) PAPER:1  GROUP: I
Time: 2:30 hours SUBJECTIVE Marks: 80
Note: Section-I is compulsory. Attempt any three (3) questions from Scction-ﬂ-@
SECTION-1
2.  'Write short answers to any EIGHT questions: é\ = /:, /)22 3 (2x8=16)

State the DeMoiver’s theorem.

Factorize 9a’+16b
Write down two proper subsets of {0, 1}

iv- Construct truth table (p =>~p)v{p —>q)
v- Define unary and binary operations.
o i 5 -1 5
vi- Find matrix X if X . =
-2 1 12 3
vii- Solve the following system of lincar equations
I —¥Xp=1, X +%x;3=3
2 =1 5 —14k ty—=1
viii- If A= - , verify that (A7) =(A")
ix- Solve the equation x4 48 = 6x"°
%- Find four fourth roots of 16
xi- Discuss the nature of the roots of a quadratic equation x2+2x+3=0
«ii- When the polynomial x*+2x” +kx + 4is divided by x -2, the remainder is 14.
Find the value of k
3.  Write short answers to any EIGHT questions: (2x8=16)
i- Define rational fraction.
ii- Write down the first four terms of the sequence, ifag=n.an1 , agl
{ii- Find the 13" term of the sequence X,1,2~X,3—2X, «cocove
iv- Find the nth term of geometric sequence , if %5— =% and ag =%
3
v- Sum to n terms of the series 3 +33 +333 + ...
vi- Find the 9™ term of HLP. % : lg , % ..........
vii- Prove that "C,="C,_,
viii- What is the probability that a slip of nunibers divisible by 4 is picked from the slips
bearing numbers 1,2,3, ... 107
ix- 1fsamplespace S={1,2.3, .. 5.4, 9} event A={2,4,6, 8} and event B={1,3, 5}.
Find P(A. U B)
o K. 9 )
x- Prove by mathematicalinduetionr +r° + P F i L el r#l
310
xi- Find the 6™ tezm in the @xpansion of ( L -2;]
xii- Evaluate®/30 Gorrect to threc places of decimal.
4. Writeghort answers to any NINE guestions: (2x9=18)
i< Wiite dowst any two fundamental trigonometric identities.
ii- In which quadrant the terminal arm of the angle lic when Sin0 < 0 and Cos 6> 0
fii- Verlfy Sin60°Cos30° - Cos60°8in30° = Sin30°
iy- Prove that Sin3c =3Sinc— 4Sin’a
y- Prove that Cota —tana = 2Cot2a
vi- Express Sin(x +30%)+8in(x - 30°) as product .
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SECTION-II
Note: Attempt any three (3) questions.
2 3 -1 9
5. (a) Reduce the matrix |1 =1 2 -3 | into echelon form
3 1 3 2]
(b) Solve the equation (x +4)(x +1)= Vx? +2x -15 +3x +31
(x-N(x=3)(x-5)
6- (a) Resolve D=6 into partial fractions.
(b) Tind the values of n and r, when "C, =35 and "P, =210
n+l n+l
7-  (a) Find nso that may be [{.M. between ‘a” and ‘b’.
a"+b"
(b) Use mathematical mduclmn to prove the formula for every
1
R AR ""2.:- —2[] \
8- (a) If CosecO =" and m>0 0<U — E
Find values of remaining mgonom 054
; ; 1
(b) Prove that Sin10°Sin30%Sin5 ? T
9- (a)

vii-
viii-

ix-
Xi=
xii-

xili-

(b)

@ @)

Write domain and range of Sin0

wall. Find its length.

FmdthearcaoftheMangchBC ifa=18 , b=24 , ¢=30

Prove that T,y = rs’
Show that Cus“l(—x} —n—Cos™'x

Find the value of Sin[Cas" i;%-]

Prove the identity Sin™'x = g— Cos™'x

gern

Loyl =223

A ladder leaning against a vertical wall makes an angle of 24° with the wall. Its foot is Sm from the
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